Y5 - Autumn - Block 1 - Step 2 - Roman Numerals to 1,000 Answers

Question Answer
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a) Amiris correct

4 b) Dora has written VC directly from ‘five hundred’ i.e. V=5 and C =100
However, five hundred has its own roman numeral, D

Fifty-two, LII
635, DCXXXV
) 991, nine hundred and ninety-one
407,CDVII
839, eight hundred and thirty-nine
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Question Answer

KXV + I CDLXX
D - XXX DC
6 M =D CCCL
DCCC - CC XXX
L x VI Il
V, X, XV , XX, XXV , XXX, XXXV . XL
C, CL, CcC , CCL, CCC cccL |, CD , CDL
I4
X, XX, XXX, XL . L , LX, LXX , LXXX
[, VI . IX, XII , XV, XVII, XXI , XXIV
a) May
8 b) 1986

c) This will vary depending on the date the question is used.




